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Instructions

In a certain board examination, students were to appear for examination in five éubjects:

English, Hindi, Mathematics, Science and Social Science. Due toa gértain emergency situation, a few of the examinations could not be
conducted for some students. Hence, some students missed one examination and some others missed two examinations. Nobody
missed more than two examinations.

The board adopted the following policy for awarding marks to students. If a student appeared in all five examinations, then the marks
awarded in each of the examinations were on the basis-of the'scores obtained by them in those examinations.

If a student missed only one examination, then the marks awarded in that examination was the average of the best three among the four
scores in the examinations they appeared for, If a student missed two examinations, then the marks awarded in each of these
examinations was the average of the best two among the three scores in the examinations they appeared for. The marks obtained by six
students in the examination are given in the table below. Each of them missed either one or two examinations.

English Hindi Mathematics | Science | Social Science
Alva 80 75 70 75 60
Bithi 90 80 55 85 85
Carl 75 80 90 100 90
Deep 70 90 100 90 80
Esha 80 85 95 60 55
Foni 83 72 78 88 83

The following facts aresalso known.

I. Four of these students appeared in each of the English, Hindi, Science, and Social Science examinations.

Il. The student who missed the Mathematics examination did not miss any other examination.

I1l. One of the students who-missed the Hindi examination did not miss any other examination. The other student who missed the Hindi
examination also missed the Scierice examination.

Question1 /

Who among the following did not appear for the Mathematics examination?

A Alva
B Carl
C Foni

D Esha

Answer: B

Explanation: pi - /
Based on Condition I, we understand that the student who missed the Matherﬁatics examination did not miss any other examination.

This indicates that the Maths score is bound to be the average of the best 3 out 6fthe 4.exam scores obtained by this candidate. Based
on this inference, we can proceed with identifying the math score that can be represented as an average of the rest of the scores. We can
straightaway eliminate Deep and Esha as potential candidates, given that their Mathematics score is greater than the rest of the exam
scores.

For Alva: best 3 out of 4 - 80(English), 75(Hindi), 75(Science)

Avg. = 230/3 = 76.67 % 70

For Carl: best 3 out of 4 - 80(Hindi), 90(Social Science), 100(Séi¢nc_e)

Avg. = 270/3 = 90 which matches the given value

.*. Carl most likely missed his Mathematics examinatiof.

For Foni: best 3 out of 4 - 83(English), 83(So¢tial Sc_iencé), 88(Science)

Avg. = 254/3 = 84.67 £ 78 T

Hence, we observe that only Carl has missed his Mathem.a'ticl:s examination. Hence, Option B is the correct answer.
Question 2

Which students did not appear for the English examination?
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A Carl and Deep \_/

B Cannot be determined p
CN

C Alvaand Bithi 7N
va and Bithi v
)
D Eshaand Foni '\\\//;/
Answer: D (/?
A\
Explanation: &

Based on Condition Il, we un\tand that the student who missed the Mathematics examination did not miss any other examination.
This indicates that the Maths score is bound to be the average of the best 3 out of the 4 exam scores obtained by this candidate. Based
on this inferefice, we can proceed with identifying the math score that can be represented as an average of the rest of the scores. We can
straightawa éliminate De pand Esha as potential candidates, given that their Mathematics score is greater than the rest of the exam
scores. AfteWg t Q average scores for the rest of the candidates, we observe that only Carl has missed his Mathematics
examination /

For Carl: best 3 out of 4 - 80(Hindi), 90(Social Science), 100(Science)
Avg. = 270/3 = 90 which matches the given value

*. Carl missed his Mathematics examination. y
Further, based on Condition I, we can surmise that the student who missed I;iydran Science should have similar average scores in
these two subjects. We notice that Alva has the same score of 75 in both Hindi and Science. The same can be said about Deep, who has
a score of 90 in both these subjects. Thus, one out of Alva and Deep mis§ed out on inqbgriﬁ”@cience examination, while the second

individual missed out only on the Hindi examination.

f
( 22
Since we know that Carl, Alva and Deep are unlikely to have missed out on the E |ISh we.can divert our attention to determining
which individual out of Bithi, Esha and Foni failed to appear for this subje I;h{/vevepw notice that Bithi's English score is greater than
the rest of her scores, thereby helping us eliminate her as the potential ca dldat

For Esha: best 3 out of 4 - 85(Hindi), 95(Mathematics), 60(Science) 5-’/\‘\

Avg. = 240/3 = 80 which matches the given value

*. Esha most likely missed her English examination. C_‘x\

For Foni: best 3 out of 4 - 78(Mathematics), 83(Social Science), 88(Sciéﬁ€:’t§:“:?y
Avg. = 249/3 = 83 which matches the given value C:;:\\ )
*. Foni most likely missed her English examination. k\::/_/

Based on Condition |, we know that exactly two candidates missed the examinations for English, Hindi, Science, and Social Science.

Science, we know one of the individuals is either ep..Gwen“ hat Carl, Alva and Deep cannot be a part of the group that missed
Science or Social Science exam, we can proceed by cérg uft)g\crutlnlzmg the rest of the group that includes Bithi, Esha and Foni.

For English, we determined these individualsi,I:deEzlzi d For]irﬂEg_r_ indi, we determined these individuals to be Alva and Deep. For
r‘Alva-or

We notice that Bithi has a similar score in both Science and Sot?al Science examination. Assuming that she did miss these exams, let us
proceed to check if this was actually the cag/e,/.)

For Bithi: Best 2 out 3 - 90(English), 80(Hi cfi) n
Avg = 170/2 = 85 which matches the give val\e /

A

. Bithi is likely to have missed her Science ana*Soc al Science examinations.

We additionally notice that Foni has-a.similar score in English and Social Science. On considering the best 2 out of 3 scores, the average
value of the score for both the/s/yrﬁ_eéyh?&tds (equal to 83). Thus, we can conclude that Bithi and Foni missed their Social Science
examination. U //

{

Thus, the students who missed Justlohe exa)nr\//vere Carl (Mathematics); Esha (English) and one out of Alva and Deep (Hindi).

Hence of the six stude?&§ we can cor%ﬂ%etermme the missed subjects for four of them (except Alva and Deep):

Mathematics: Carl ; EnQI‘ish Esha & Foni ; Hindi: Alva & Deep; Science: Bithi & one out of Alva and Deep ; Social Science: Foni & Bithi
Hence, the correct answe \\thl\uestlon is Option D: Esha and Foni.

Question3

1‘/
What BEST 9’.{;&‘: be concluded about the students who did not appear for the Hindi examination?
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( i
A Deep an&&&//ﬁr

B Alva and Deep
C Alvaand Esha

D Two among Alva, Deep and Esha /

Answer: B /
. /
: f

Explanation
Based on Condition Il, we understand that the student who missed the Ma did not miss any other examination.

This indicates that the Maths score is bound to be the average of the best 3/out of the/4\ cores obtained by this candidate. Based
on this inference, we can proceed with identifying the math score that/ca rep as an average of the rest of the scores. We can
straightaway eliminate Deep and Esha as potential candidates, given that'their Mathematics score is greater than the rest of the exam
scores. After estimating the average scores for the rest of the candidates only Carl has missed his Mathematics
examination.

For Carl: best 3 out of 4 - 80(Hindi), 90(Social Science), 100(Scienc K

Avg. = 270/3 = 90 which matches the given value N~

*. Carl missed his Mathematics examination. & E

Further, based on Condition Ill, we can surmise that the stude \ﬁusse indi and Science should have similar average scores in
these two subjects. We notice that Alva has the same score of 75 in b indi and Science. The same can be said about Deep, who has
a score of 90 in both these subjects. Thus, one out of Alva and Deep missed out on Hindi and Science examination, while the second

individual missed out only on the Hindi exa ﬁ[lon
nI|

Since we know that Carl, Alva and Deep are u je"a:’eat on the English exam, we can divert our attention to determining
which individual out of Bithi, Esha and Foni falled to appe Ffor this subject. However, we notice that Bithi's English score is greater than
the rest of her scores, thereby helping us eliminate her as fheﬁn\s)entlal candidate.

For Esha: best 3 out of 4 - 85(Hindi), 95 Mat,h/e}natlcs ), 60(Science)

n

*. Esha most likely missed her English examination. /
~

For Foni: best 3 out of 4 - 78(Mathematics), 83(807 Science), 88(Science)
Avg. = 249/3 = 83 which matchesjlhgg\iven value

Avg. = 240/3 = 80 which matches the giv fvalue

*. Foni most likely missed heﬂglisﬁ,éxgming}ion.
§ 7
Based on Condition I, we knolethat {(actly o candidates missed the examinations for English, Hindi, Science, and Social Science.

For English, we determined these mém_;a,lféto be Esha and Foni. For Hindi, we determined these individuals to be Alva and Deep. For
Science, we know one Fgfl?the individuals is either Alva or Deep. Given that Carl, Alva and Deep cannot be a part of the group that missed
Science or Social Sci E\exam, we can proceed by carefully scrutinizing the rest of the group that includes Bithi, Esha and Foni.

We notice that Bithi has a'similar score in both Science and Social Science examination. Assuming that she did miss these exams, let us
proceed to check if this was actually the case.

For Bithi: Best: gf’out 3 - 90(English), 80(Hindi)
Avg = 170/4/{85 which m7t-;:hes the given value
. Bithiis |Ik\81(t0 have prﬁ,med her Science and Social Science examinations.

We additionally notice that Foni has a similar score in English and Social Science. On considering the best 2 out of 3 scores, the average
value of the score for both the subject holds (equal to 83). Thus, we can conclude that Bithi and Foni missed their Social Science
examination.

Thus, the students who missed just one exam were: Carl (Mathematics); Esha ( Eng/sh ) and one out of Alva and Deep (Hindi).
Hence of the six students, we can correctly determine the missed subjects for f r of them (except Alva and Deep):
Mathematics: Carl ; English: Esha & Foni ; Hindi: Alva & Deep; Science: Bithi'& one out of AJya nd Deep ; Social Science: Foni & Bithi

/ -
Hence, the correct answer to this question is Option B: Alva and Deep./ ﬂ

(_-
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Question 4

What BEST can be concluded about the students who missed the QWexamination?

\\\\\?
A Bithi and one out of Alva and Deep (\_) X
\\\

B Alva and Bithi .

y
C Deep and Bithi \
D Alvaand Deep Q\\ ——

'@
Answer: A \

Explanation: ’;/>

Based on Condition Il, we understand that he student who missed the Mathematics examination did not miss any other examination.
This indicates that the Maths score is bo q to be they@age of the best 3 out of the 4 exam scores obtained by this candidate. Based
on this inference, we can proceed with ide \‘yin\g‘:_he/ h score that can be represented as an average of the rest of the scores. We can
straightaway eliminate Deep and Esha as potenti didates, given that their Mathematics score is greater than the rest of the exam
scores. After estimating the average scores for the rest of the candidates, we observe that only Carl has missed his Mathematics
examination.

\
For Carl: best 3 out of 4 - 80( Lljﬁé{%é(@be'@l\sgence), 100(Science)
Avg. = 270/3 = 90 which matches t ei,fgiven/.ll lue
N
Mt
.". Carl missed his Matpgmatics examiﬂa%iéw.

Further, based on Condj‘ﬂ:jon I, we can surmise that the student who missed Hindi and Science should have similar average scores in
these two subjects. nBtipe that Alva has the same score of 75 in both Hindi and Science. The same can be said about Deep, who has
ascore of 90 in botth. Thus, one out of Alva and Deep missed out on Hindi and Science examination, while the second
individual missgd out only on theHindi examination.

which individual out of Bithj, Esha and Foni failed to appear for this subject. However, we notice that Bithi's English score is greater than
the rest of h&s;zeitheréfby helping us eliminate her as the potential candidate.

For Esha: best W@S(Hindi), 95(Mathematics), 60(Science)

Since we kn F«ﬁat Carl, Alva and Deep are unlikely to have missed out on the English exam, we can divert our attention to determining

Avg. = 240/3 = 80 which matches the given value

.". Esha most likely missed her English examination.

For Foni: best 3 out of 4 - 78(Mathematics), 83(Social Science), 88(Science) /
Avg. = 249/3 = 83 which matches the given value /
ions f
eter

.". Foni most likely missed her English examination. A

//

.
dz English

indi, Science, and Social Science.

For English, we determined these individuals to be Esha and Foni. For Hindi,/w
Science, we know one of the individuals is either Alva or Deep. Given Alya’_'
Science or Social Science exam, we can proceed by carefully scrutini@g he rig of the

e individuals to be Alva and Deep. For
eep cannot be a part of the group that missed
up that includes Bithi, Esha and Foni.

Based on Condition |, we know that exactly two candidates missed the exa Z;t

We notice that Bithi has a similar score in both Science and Social Science\exq in ssuming that she did miss these exams, let us

proceed to check if this was actually the case. \/
For Bithi: Best 2 out 3 - 90(English), 80(Hindi) Q“\\\
Avg = 170/2 = 85 which matches the given value N \“\:}

.". Bithi is likely to have missed her Science and Social Sciené\e?exgmination )

-~ \\
We additionally notice that Foni has a similar score in English anaébcj:a’l/s;’gie’nce. On considering the best 2 out of 3 scores, the average
value of the score for both the subject holds (equal to 83). Thus, we can conclude that Bithi and Foni missed their Social Science
examination.

-,

‘:,
Thus, the students who missed just one exa ‘W\\Mgthemaﬁys); Esha (English) and one out of Alva and Deep (Hindi).
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Hence of the six students, we can correctly determineuthéfﬁ‘\is\ed subjects for four of them (except Alva and Deep):

Mathematics: Carl ; English: Esha & Foni; H|nd| Alva & Deep; Szlence Bithi & one out of Alva and Deep ; Social Science: Foni & Bithi
Hence, the correct answer to this question f{Optlon A: Bithi & one out of Alva and Deep.

Question 5 \ f}

How many out of these six students misse Beacﬂymxexammatlon?

Answer:3 )
-
f 4 ,
Explanation: [f 7 <

&
Based on Condition Il, we undll-ersta d/that tl); student who missed the Mathematics examination did not miss any other examination.
This indicates that the Maths score i@baun/ to be the average of the best 3 out of the 4 exam scores obtained by this candidate. Based
on this inference, we can,proceed with identifying the math score that can be represented as an average of the rest of the scores. We can
straightaway eliminate Deep and Esha as potential candidates, given that their Mathematics score is greater than the rest of the exam
scores. After estimating the e average scores for the rest of the candidates, we observe that only Carl has missed his Mathematics

. ion. -,\
examination S

For Carl: best 3 out of 4 - 80(Higa‘|)f, 90(Social Science), 100(Science)

&
Avg. =270/ /7’90 which matches the given value

*. Carl mis e(q his Matherﬁg’tics examination.

Further, base&&&\/ﬂj{é I, we can surmise that the student who missed Hindi and Science should have similar average scores in
these two subjects. We notice that Alva has the same score of 75 in both Hindi and Science. The same can be said about Deep, who has
a score of 90 in both these subjects. Thus, one out of Alva and Deep missed out on Hindi and Science examination, while the second
individual missed out only on the Hindi examination.

Since we know that Carl, Alva and Deep are unlikely to have missed out on the English,exam, we can divert our attention to determining
which individual out of Bithi, Esha and Foni failed to appear for this subject. However, we notice that Bithi's English score is greater than
the rest of her scores, thereby helping us eliminate her as the potential candi

For Esha: best 3 out of 4 - 85(Hindi), 95(Mathematics), 60(Science) ///ﬁ'
Avg. = 240/3 = 80 which matches the given value (\ F
.". Esha most likely missed her English examination. ==
For Foni: best 3 out of 4 - 78(Mathematics), 83(Social Science), 88( S?len e) /O

Avg. = 249/3 = 83 which matches the given value \«\

*. Foni most likely missed her English examination. \)\

Based on Condition I, we know that exactly two candidates misseMminations for English, Hindi, Science, and Social Science.
~

For English, we determined these individuals to be Esha and Foni. For Hin |\\§etermmed these individuals to be Alva and Deep. For
Science, we know one of the individuals is either Alva or Deep:"Given that Carl,/Alva and Deep cannot be a part of the group that missed
Science or Social Science exam, we can proceed by carefully sc}utk' ing the rest of the group that includes Bithi, Esha and Foni.

We notice that Bithi has a similar score in both Science and Social Science examination. Assuming that she did miss these exams, let us
proceed to check if this was actually the case.

For Bithi: Best 2 out 3 - 90(English), 80( Hlndﬁs\\

Avg = 170/2 = 85 which matches the given value

*. Bithi is likely to have missed her Science and Social Scien aminations.

We additionally notice that Foni has a simila‘ﬁa?core in English and Social Science. On considering the best 2 out of 3 scores, the average
value of the score for both the subject holds (equal to 83). Thus, we can conclude that Bithi and Foni missed their Social Science
examination. '

Thus, the students who missed just one exa (Mathematics); Esha (English) and one out of Alva and Deep (Hindi).
Hence of the six students, we can correctly determine the missed subjects for four of them (except Alva and Deep):
Mathematics: Carl ; English: Egﬁ/af&’_lz}f\\\l-lmdn Alva & Deep; Science: Bithi & one out of Alva and Deep ; Social Science: Foni & Bithi
Hence, the correct answer to mls qu/éstlon jaz{CarI (Mathematics); Esha (English) and one out of Alva and Deep (Hindi)}
\
&
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Question 6 "\ (

For how many studegcé{eKbe definite about which examinations they missed?
s
Answer:4 o

r
F.

£
Explanatlon{ ( o

Based on C n\dltlon I, we mderstand that the student who missed the Mathematics examination did not miss any other examination.
This indicates that theMaths score is bound to be the average of the best 3 out of the 4 exam scores obtained by this candidate. Based
on this inference, we can proceed with identifying the math score that can be represented as an average of the rest of the scores. We can
straightaway eliminate Deep and Esha as potential candidates, given that their Mathematics score is greater than the rest of the exam
scores. After estimating the average scores for the rest of the candidates, we observe that only Carl has missed his Mathematics
examination.

For Carl: best 3 out of 4 - 80(Hindi), 90(Social Science), 100(Science)
Avg. = 270/3 = 90 which matches the given value

*. Carl missed his Mathematics examination.

Further, based on Condition Ill, we can surmise that the student who missed /Hindi'and SKncelaould have similar average scores in
these two subjects. We notice that Alva has the same score of 75in b th drand Sc e_The same can be said about Deep, who has
a score of 90 in both these subjects. Thus, one out of Alva and Deep out ikand Science examination, while the second
individual missed out only on the Hindi examination.

Since we know that Carl, Alva and Deep are unlikely to have mlssed out on N&e\ m, we can divert our attention to determining

which individual out of Bithi, Esha and Foni failed to appear for this subject. Ho ever, we notice that Bithi's English score is greater than

the rest of her scores, thereby helping us eliminate her as the potelzﬂa\candldate
For Esha: best 3 out of 4 - 85(Hindi), 95(Mathematics), 60(Science) \

Avg. = 240/3 = 80 which matches the given value )

*. Esha most likely missed her English examination. \\

For Foni: best 3 out of 4 - 78(Mathematics), 83(Social Sgience), 88(SC|ence)

Avg. = 249/3 = 83 which matches the given \gnge \\
*. Foni most likely missed her English examination. - & —
A

\
Based on Condition I, we know that exactly two candidates-missed the examinations for English, Hindi, Science, and Social Science.

~

For English, we determined these |nd|V|duaIs/tg be Esha and Foni. For Hindi, we determined these individuals to be Alva and Deep. For
Science, we know one of the individuals is (fner Alva or Deep. Given that Carl, Alva and Deep cannot be a part of the group that missed
Science or Social Science exam, we can proceed by caref\?IIy scrutinizing the rest of the group that includes Bithi, Esha and Foni.

We notice that Bithi has a similar score in o Smery‘d Social Science examination. Assuming that she did miss these exams, let us
proceed to check if this was actually the case~

For Bithi: Best 2 out 3 - 90(Eng|ish) 80(Hindi)
Avg = 170/2 = 85 which matcr}e(s’f%? value

. Bithi is likely to have m|sséd her éélence d Social Science examinations.

(A
We additionally notice that Foni has‘a / score in English and Social Science. On considering the best 2 out of 3 scores, the average
value of the score for b{ﬁ;h the subject holds (equal to 83). Thus, we can conclude that Bithi and Foni missed their Social Science
examination. ul
SN\

Thus, the students who migsed just one exam were: Carl (Mathematics); Esha (English) and one out of Alva and Deep (Hindi).

Hence of the six students, we\(?an“correctly determine the missed subjects for four of them (except Alva and Deep):

Mathematics{;g’grl ; English: Esha & Foni ; Hindi: Alva & Deep; Science: Bithi & one out of Alva and Deep ; Social Science: Foni & Bithi

Except for Al ya and Deep, We can conclusively comment of the missed subjects of the rest four. Hence, the correct answer is 4.
v CAT Previous Papers PDF

Instructions

Ten musicians (A, B, C, D, E, F, G, H, | and J) are experts in at least one of the following three percussion instruments: tabla, mridangam,
and ghatam. Among them, three are experts in tabla but not in mridangam or gha'grﬁ/anotherthree are experts in mridangam but not in
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tabla or ghatam, and one is an expert in ghatam but not in tabla or mridangam.
The following facts are known about these ten musicians.
1. Both A and B are experts in mridangam, but only one of them is also an

urther, two are experts in tabla and mridangam but not in
ghatam, and one is an expert in tabla and ghatam but not in mridangam.
(
pertin tabla.
2. D is an expert in both tabla and ghatam.

=z
3. Both F and G are experts in tabla, but only one of them is also an expert in mridanga
4. Neither | nor J is an expert in tabla. /
5. Neither H nor | is an expert in mridangam, but only one of them is an expert.i

Question 7

Who among the following is DEFINITELY an expert in tabla but notqn}m@r mridangam or ghatam?

) J

D H \
Answer: D

Explanation: 4>
Based on the given information, we can f(ﬁ‘u the foIIowilﬁ Venn-diagram for ease of understanding:

ava

Mridangam

The conditio §Qe|p u:t/yfirther bifurcate the individuals based on their expertise.
Bt
Mridangam: A an ondition 1); one out of F and G (condition 3)

Tabla: one out of A and B (condition 1); F and G (condition 3); D (condition 2)

Ghatam: D (condition 2)

Based on condition 4, we infer that 'I' and 'J' are either experts in Ghatam or Mrida gg . However, condition 5 adds that 'l'is not an expert
in Mridangam. This helps us definitively zero-in on 'l' as an expert in Ghatam. Since 'l'is a Ghatam expert, J is an expert in Mridangam and
'H'is an expert in Tabla [based on conditions 4 and 5]. Thus, we can depict odr understanding so far as follows:

/) s’
/\\Q
A

. ¥
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Tabla

'AorB; D;FandG; H; CorE

One out of each A/B + FIG |

[ 100

Mridangam

‘AandB;ForG;J; CorE |

Mridangam [total: 5] - Afand B (condition 1); one out of F and G (condition 3); J (condition 4 and 5); one out of C and E {remaining experts}

Tabla [total: 6] - one oui bf A and B (condition 1); F and G (condition 3); D (condition 2); H (condition 4 and 5); one out of C and E
{remaining experts} \

Ghatam [total: 2] D (condltlon‘ZM (condition 4 and 5)
Thus, we obsérVe that H is definitely an expert in tabla but not in either mridangam or ghatam. Hence, Option D is the correct answer.
Question 8 |

1
£

Who among thg»fgl]gvyin(_j.Jié DEFINITELY an expert in mridangam but not in either tabla or ghatam?

-~ -~

C G ) ,r

D E p /

f / : // (5 1)
Answer: B / A 2
J 7/ VA £

Explanation: [ = Q

Based on the given information, we can form the following Venn- dlagram @r eagé of undeqstandlng
oo,

ava

Mridangam

The conditions help us to further blfurcate the |nd|V|duaIS based on their expertise.

Mridangam: A and B (condition 1); one out o‘f F andG (condltlon 3)
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Tabla: one out of A and B (condition.1); F and G (condition 3); D (condition 2)
S
Ghatam: D (condition 2) f// L <G
( /N
{ =
Based on condition 4, we infethhat ' "Fmd 'J')zjre either experts in Ghatam or Mridangam. However, condition 5 adds that 'I' is not an expert
in Mridangam. This helps us definiti\(_éiy\zef’/d-in on'l'as an expert in Ghatam. Since 'l' is a Ghatam expert, J is an expert in Mridangam and

'H'is an expertin Tabla,{lgased on conditions 4 and 5]. Thus, we can depict our understanding so far as follows:
1§

" [One out of each A/B + F/G |

Mridangam

Aand B; ForG; J; CorE |

. y 1 W
Mridangam [total: 5] - A and B (condition 1); one out of F and G (cond/ltlon 3);J Mlo

and 5); one out of C and E {remaining experts}
Tabla [total: 6] - one out of A and B (condition 1); F and G (condition )/D\(BQD iti ’

condition 4 and 5); one out of C and E

e
{remaining experts} '\jw
Ghatam [total: 2] - D (condition 2); | (condition 4 and 5) N

N \
Thus, we observe that J is definitely an expert in mridangam but not in eithe

‘Na%a or ghatam. Hence, Option B is the correct answer.
Question 9 & )

Which of the following pairs CANNOT have any musician who is\ane\ /lzr’both tabla and mridangam but not in ghatam?

()
A FandG Q \\
3 ==
B CandE \Q/*”
C AandB S
D CandF oy
f
Answer: B {'\ //7
\
. S 4
Explanation: —
Based on the given information, we can form the following Venn-diagram for ease of understanding:
IR
.'f / £ J;\\\ S
ILJI /“‘: )\‘»J
W J
| N4
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Ghatam Tabla
[N =
D

Mridangam

w

The conditions help us to further bifurcate the individuals based oﬁi't}i\éirqxpertise.

Mridangam: A and B (condition 1); one out of F and G (condition 3) >
\

Tabla: one out of A and B (condition 1); F and G (condition 3); D(cendltlon 2 / }
Ghatam: D (condition 2) —

Based on condition 4, we infer that 'l' and 'J' are either e}?perts in Ghatam or Mridangam. However, condition 5 adds that 'I' is not an expert
in Mridangam. This helps us definitively zero-mon 'I"as an expert in Ghatam. Since 'I'is a Ghatam expert, J is an expert in Mridangam and
'H'is an expert in Tabla [based on conditions 4 arLd‘SL Thus we can deplct our understanding so far as follows:

I [ U R - (W

Tabla

AorB; D;FandG; H; CorE

One out of each A/B + FIG |

[ Il]*

Mridangam

‘AandB;ForG;J; CorE |

_. 7

Mrldangaml[total 5]-A and B (condition 1); one out of F and G (condition 3); J (condition 4 and 5); one out of C and E {remaining experts}

Tabla [total: Bl .one outpfA and B (condition 1); F and G (condition 3); D (condition 2); H (condition 4 and 5); one out of C and E
{remaining expéFKSlg

Ghatam [total: 2] - D (condition 2); | (condition 4 and 5)
We observe that the pair C and E cannot have any musician who is an expert in both tabla and mridangam but not in ghatam. Hence,

Option B is the correct answer. a

V|
Free CAT Exam Prepa/l;atijbn App
y =2,

Question 10 N / ;f‘r'/ ‘\
If C is an expert in mridangam and F is not, then which are the three n1u3|%|ans vdho are experts |n tabla but not in either mridangam or
ghatam? [ V== (
| A
| \ / \ \\
[N\ (‘[ ]
./ w,\},_\\\.\_\ /; )
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A EFandH A\
B CGandH VW
X \'\ 7
C E GandH /\ /]
D CEandG ==
Answer: A (\

Explanation: L. ==

Based on the given information, we can form the foIIonfj Venn-diagram for ease of understanding:

.

ava

Mridangam

~ S
~7

The conditionfg‘.a’b_elp us to bifurcat‘é the individuals based on their expertise -
Mridangam:/A";nd B (condijcjon 1); one out of F and G (condition 3)

Tabla: one dg\'t\pf A and B;(*'(i;(;ndition 1); F and G (condition 3); D (condition 2)
Ghatam: D (cghai'fibvﬁ_i)j‘"f

Based on condition 4, we infer that 'l' and 'J' are either experts in Ghatam or Mridangam. However, condition 5 adds that 'l' is not an expert
in Mridangam. This helps us definitively zero-in on'l' as an expert in Ghatam. Since 'I' is a Ghatam expert, J is an expert in Mridangam,
and 'H' is an expert in Tabla [based on conditions 4 and 5]. Thus, we can depict our understanding so far as follows:

Tabla

'AorB; D;FandG; H; CorE

" [One out of each A/B + F/G |

Mridangam

AandB;ForG;J; CorE |

D@ N
Mridangam [total: 5] - A and B (condition 1); one out of.F ahﬂ'fi(eondition 3); J (condition 4 and 5); one out of C and E {remaining experts}
- ~)

Tabla [total: 6] - one out of A and B (condition 1); F and G(cb_‘pdi\tion 3); D (condition 2); H (condition 4 and 5); one out of C and E
{remaining experts} “\7
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Ghatam [total: 2] - D (condition 2); | (condition 4 and 5)

If C is an expert in Mridangam, E has to be an expert in Tabla. Additionally, if F is not an expert in Mridangam, he has to be an expert only
in Tabla while G will be an expert in both Tabla and Mridangam.

Tabla [total: 6] - one out of A and B (conditiorr1); F-and G (condition 3); D (condition 2); H (condition 4 and 5); E {based on the condition
given in the question}

Of these experts, A, B and G arg experts of-Mridangam and D is an expert of Ghatam as well. Thus, excluding these, we have F,H and E
who are the experts solely in Tabla. Thus, Option A is the correct answer.

Instructions

The local office of the ARP-CAB company evaluates the performance of five cab drivers, Arun, Barun, Chandan, Damodaran, and Eman for
their monthly paymentlbased on ratings in five different parameters (P1 to P5) as given below:

P1: timely arrival

P2: behaviour

P3: comfortable ride

P4: driver's familiarity with the route

P5: value for/money

Based on feedback from the customers, the office assigns a rating from 1 to 5 in each of these parameters. Each rating is an integer
from a low value of-1-to‘a'high value of 5. The final rating of a driver is the average of his ratings in these five parameters. The monthly
payment of the drivers has two parts - a fixed payment and final rating-based bonus. If a driver gets a rating of 1 in any of the parameters,
he is not eligible to get bonus. To be eligible for bonus a driver also needs to get a rating of five in at least one of the parameters. The
partial information related to the ratings of the drivers in different parameters and the monthly payment structure (in rupees) is given in
the table below:

P1 P2 P3 P4 PS5 |Fixed Payment Bonus
Arun 4 Fs.1000 Rs.250= Final Rating
Barun 3 Rs.1200 Rs.200= Final Rating
Chandan 2 Fs.1400 Rs.100= Final Rating
Damodaran 3 Rs.1300 Rs.150= Final Rating
Eman 2 Fs.1100 Rs.200= Final Rating

The following additional facts are known.
1. Arun and Barun have got a rating of 5 in exactly one of the parameters Chandan has. got arating of 5 in exactly two parameters.
2. None of drivers has got the same rating in three parameters. \

Question 11

If Damodaran does not get a bonus, what is the maximum possible value of-his final rating?

A 34
B 32
C 36

D 338

Answer: C

Explanation:

Based on the given conditions, Damodaran misses out on/the bonus if he gets a rating of 1 in any of the five parameters. He additionally
needs to obtain a rating of 5 in at least one'ofithe parameters. Thus, the maximum value of the range of ratings that he can acquire would
be 1+3(given)+5+5+5. However, based on condition 2, he can have similar ratings in only two of the parameters. Thus, the maximum
value of the final rating would be (1+3+5+5+4) /5 = 18/5 = 3.6. Hence, Option C is the correct answer.

Question 12

If Eman gets a bonus, what is the minimum possible value of his final rating?

A 32
B 28
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D 3.0

Answer: E{( []

N

N

Explanation:

Since Eman got a bonus, he must have obtained a rating of 5 in at least one of the parameters. To minimize his final rating we need to
consider the following range of values: 5(mandatory)+2(given)+2+3+3 = 15. The least value of his final rating is, therefore, 15/5 = 3.
Hence, Option D is the correct answer.

CAT Formulas PDF [?ml/ d Now]

Question 13

If all five drivers get bonus, what is the minimum possible value of the ly p ymé@ es) that a driver gets?
———r

A 1750

B 1600

C 1740

D 1700 N \
Answer: D Q )
Explanation: —
Our objective here is to minimize the final ratings in ordér to find the minimum value of the monthly payment. We cannot have a rating of
1 in any of the parameters since all the drive ot the banus and we need to have at least one parameter with a rating of 5. With this

understanding, we obtain the following: \
\/—‘
Arun:

Final rating = (5+4+2+2+3)/5=16/5=3.2; leed payment = \ooo
Variable payment = 3.2 * Rs. 250 = Rs.800 'r’potal =Rs.(1000+800) = Rs. 1800
(

[]

Final rating = (5+3+2+2+3)/5 = 15/5 = 3; Fi \d\Qe_lymgp/z/Rs.‘mOO

Barun:

Variable payment = 3 * Rs. 200 = Rs.600 ; Total = Rs.(1200+600) = Rs. 1800
Chandan: {rating of 5 in exactly t ameters based on condition 1}

Final rating = (5+5+2+2+3)/5 X;sz\ll\{lmd payment = Rs.1400

Variable payment = 3.4 * Rs. 100 = s 340 )f tal = Rs.(1400+340) = Rs. 1740
Damodaran: > \'\\-k-/

Final rating = (5+3+2+ +"{3)/5 =15/5 = 3; Fixed payment = Rs.1300

Variable payment = 3 * \'T'i%)\f\RsASO ; Total = Rs.(1300+450) = Rs. 1750
Eman; ‘ N

Final rating =4 5;1:23+2+2+3)/5 =15/5 = 3; Fixed payment = Rs.1100

Variable pa rgent =3% Rs./QI_pO = Rs.600 ; Total = Rs.(1100+600) = Rs. 1700

\ 4

Hence, we obser\re_tﬁJt the minimum value of the monthly payment is Rs. 1700. Option D is the correct answer.
Question 14

If all five drivers get bonus, what is the maximum possible value of the monthly payment (in rupees) that a driver gets?

A 1960 / /
=R
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B 2050

C 1950

D 1900

Answer: A

Explanation:

With this understanding, we obtain the following:

Arun: {can have only one rating of 5 based on condition 1}

=Rs.1000
) =

Final rating = (5+4+4+3+3)/5 = 19/5 = 3.8; Fixed payme

Rs. 1950

Variable payment = 3.8 * Rs. 250 = Rs.950; %I =Rs.(

Final rating =

Variable payment = 3.8 * Rs. 200 = Rs.760 ; Total = Rs.(1200+760) = Rs. 1960

Chandan:
Final rating = (5+5+2+4+4)/5=20/5=4; F wt s.1400
Variable payment = 4 * Rs. 100 = Rs.400 ; Total= 400+400) = Rs. 1800

Damodaran:

Final rating = (5+5+4+4+3) /5 /ﬁﬁxed payment = Rs.1300

Variable payment = 4.2 * Rs. 0 630 | = Rs.(1300+630) = Rs. 1930

Eman: &\-/

Final rating = (5+5+2+£@l)/5 =20/5 = 4; Fixed payment = Rs.1100

N\
Variable payment = fﬁk‘s\goo = Rs.800 ; Total = Rs.(1100+800) = Rs. 1900
Hence, we observe that the \'ﬂum possible value of the monthly payment is Rs. 1960. Option A is the correct answer.
H PN
Instructions f! 7

1000 patien icurrently suffering from a disease were selected to study the effectiveness of treatment of four types of medicines — A, B,
CandD. Th gwré first randomly assigned into two groups of equal size, called treatment group and control group. The
ntrol

patients in the ¢ were not treated with any of these medicines; instead they were given a dummy medicine, called placebo,
containing only d starch. The following information is known about the patients in the treatment group.

a. A total of 250 patients were treated with type A medicine and a total of 210 patients were treated with type C medicine.

b. 25 patients were treated with type A medicine only. 20 patients were treated with type C medicine only. 10 patients were treated with
type D medicine only.
c. 35 patients were treated with type A and type D medicines only. 20 patients weré treated with type A and type B medicines only. 30
patients were treated with type A and type C medicines only. 20 patients were tfeated with type C and type D medicines only.

d. 100 patients were treated with exactly three types of medicines.
e. 40 patients were treated with medicines of types A, B and C, but not with medicines 20 patients were treated with medicines

of types A, C and D, but not with medicines of type B.

y-one type of medicine.

Question 15

How many patients were treated with medicine type B? /\i@

Answer:340

Explanation:
Of the 1000 subjects, only 500 have been considered for the treatment. This
D have been administered to this set of 500 individuals, whilwoo ha
we can then draw the following 4-set Venn diagram:

titutes our sample set. Thus the four drugs- A, B, C and
been given the placebo. Based on the given information,
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30 40 20 C | 210
20 50 20
35 10 D

\
We can solve for the‘ndj\_rﬁber of patients who were administered the drugs A, B and D excluding C by putting in the values for set A. The
required value = 250 - (25-'3&2(5'-}_:30;40+20+50+35) = 30. Based on condition (c), we know that 100 patients were treated with exactly three
types of medicines. Thus, we candill the slot for the number of patients who were administered only B, C and D excluding A by 100 -
(40+20+30) =_,»1/.'b-‘f

Similarly, b "'s'éd on condition (f), we know that the candidates who were administered only dug B are 75 - (25+20+10) = 20. Post this, we
can easily ¢ ,\Iculate the nL_;r'p'ber of people administered with only drugs B and C by 210 - (30+20+40+50+10+20+20) = 20. We can fill in
the above valugs.to obtain‘the following diagram:

3 -

250 A B

25 20 20

30 40 20 | 20 c 210
20 50 10 | 20
35 30 X 10 B

The sum of all the values should add up to 500. On solving fo'r"x':[whjg_h rep;é#ents the number of people who were administered drugs B
and D only], we obtain x = 150. The final representation would appear-as féllows:

—
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250 A B | 340

30 40 20 20 Cc | 210
20 | 50 | 10 | 20
35 [ 30 [1s0 | 10 ) P 335

Based on the above, the number of patients who were treated with medicdilné’type Bis eq/ue_xltq“@_m.
s B 4 A

L | J .o i /.

Top-500 Free CAT Questuﬁ‘ns,(Wlth_\sqlutlons)

.‘"‘ 4 4 ‘_-—, (.

14—
p

i J ~ o\
Question 16 "v, /\\ (' ’ 7 .\‘ \\
The number of patients who were treated with medicine types B, C and D,.\Putpg‘t\type /A’ was:

e
Y
Answer:10 \
Explanation:

Of the 1000 subjects, only 500 have been considered for the treatment. Thié‘\:yﬁ%titutes our sample set. Thus the four drugs- A, B, C and
D have been administered to this set of 500 individuals, whilé‘tﬁ;é:re‘.s__t 500 haﬂ# been given the placebo. Based on the given information,

-

we can then draw the following 4-set Venn diagram: ==

250 A B

30 40 20 Cc | 210
20 50 20
35 10 D

We can solve for the n\thmb"en_gf patients who were administered the drugs A, B and D excluding C by putting in the values for set A. The
required value = 250 - (25+§0+3t)+§0+20+50+35) = 30. Based on condition (c), we know that 100 patients were treated with exactly three
types of medicines. Thus, we can fill the slot for the number of patients who were administered only B, C and D excluding A by 100 -
(4o+20+30);ﬁ0f

/ {
Similarly, based on conditign (f), we know that the candidates who were administered only dug B are 75 - (25+20+10) = 20. Post this, we
\ \ [ 'd . . . . .
can easily calculate the number of people administered with only drugs B and C by 210 - (30+20+40+50+10+20+20) = 20. We can fill in
the above valﬁaslt\&ebj@’mrthe following diagram:
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30 40 20 | 20 c [ 210
20 50 10 | 20
35 30 x 10 B

The sum of all the values should add up to 500. On solving for 'x' [which represents the number of people who were administered drugs B
and D only], we obtain x = 150. The final repre_\sentatiodeuId appear as follows:

(U

30 40 20 20 c | 210
20 50 10 20
10 D

35 30 150 | 325

The number of‘patients who were treated with medicine types B, C and D, but not type A was: 10.
Question 17I

How many p"a_iients were_.t'i'éated with medicine types B and D only?
\\‘ .._.--._ . . -4'
Answer:150

Explanation:
Of the 1000 subjects, only 500 have been considered for the treatment. This constitutes our sample set. Thus the four drugs- A, B, C and
D have been administered to this set of 500 individuals, while the rest 500 have beén ’éiven the placebo. Based on the given information,

{

we can then draw the following 4-set Venn diagram:
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250 A B

30 40 20 C | 210
20 50 20
35 10 D

We can solve for the number of patlehts who ‘were administered the drugs A, B and D excluding C by putting in the values for set A. The
required value = 250 - (25+20+30+40+20+50+35) 30. Based on condition (c), we know that 100 patients were treated with exactly three
types of medicines. Thus, we can f|II the Slot for the number of patients who were administered only B, C and D excluding A by 100 -
(40+20+30) =10. SN

Similarly, based on condmon (f), we know that the candidates who were administered only dug B are 75 - (25+20+10) = 20. Post this, we
can easily calculate th‘e«number of people administered with only drugs B and C by 210 - (30+20+40+50+10+20+20) = 20. We can fill in
the above values to obtain the followmg diagram:

\.;

250 A B

25 20 20

30 40 20 | 20 c 210
20 50 10 | 20
35 30 X 10 B

. e

The sum of all the values should add up to 500. On solving for ‘x' [which represeﬁt_sjthe number of people who were administered drugs B
and D only], we obtain x = 150. The final representation would appeéif'as_follows:

™
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250 A B | 340

30 40 20 20 Cc | 210
20 | 50 | 10 | 20
35 [ 30 [1s0 | 10 ) P 335

The number of people who were administered drugs B and D only were 150.

Question 18
A
The number of patients who were treated with medicine type D was: i
Answer:325 // / p—"s
/7 Vi O
ﬁ ) / // \\
Explanation: [ W / /

Of the 1000 subjects, only 500 have been considered for the treatment‘ gconstltutes“eurs/amme set. Thus the four drugs- A, B, C and
D have been administered to this set of 500 individuals, while the rest ,50q have b/een gn\;e\n the placebo. Based on the given information,

we can then draw the following 4-set Venn diagram: | /‘\\,_ {,\ \ ) \)
250 | A B
30 40 20 c 210
20 50 20
35 10 D

We can solve for the number of patients who were administered the drugs A, B and D excluding C by putting in the values for set A. The
required value = 250 - (25+20+39+46—k20+50+35) 30. Based on condition (c), we know that 100 patients were treated with exactly three
types of medicines. Thus, we oé,n fill t?le\sjotfor the number of patients who were administered only B, C and D excluding A by 100 -

(40+20+30) = 10. i 4/ @

|5 II .1 |
Similarly, based on condition (f), we'knowjheit the candidates who were administered only dug B are 75 - (25+20+10) = 20. Post this, we

can easily calculate the Qumber of people-administered with only drugs B and C by 210 - (30+20+40+50+10+20+20) = 20. We can fill in
the above values to obtain the following diagram:

o
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30 40 20 | 20 c [ 210
20 50 10 | 20
35 30 x 10 B

\ )

The sum of all the values should add up to 500. On solving for 'x' [Wh1Qh represer;'t'; the number of people who were administered drugs B
and D only], we obtain x = 150. The final representation would appeai‘r"as'“_follg_ws:

250 A B | 340

30 40 20 20 Cc | 210
20 | 50 | 10 | 20
35 [ 30 [1s0 | 10 ) P 335

[] Iy

The number of patients who were trl'ea_'i}edjg\lifh medicine type D was 325.

Free CAT Study Material

Instructions

Four institutes,"",&:, B, C, and D, had contracts with four vendors W, X, Y, and Z during the ten calendar years from 2010 to 2019. The
contracts wg'fé either multi-year contracts running for several consecutive years or single-year contracts. No institute had more than one
contract W|th tthe same ver]dor However, in a calendar year, an institute may have had contracts with multiple vendors, and a vendor may
have had contracts with multlple institutes. It is known that over the decade, the institutes each got into two contracts with two of these
vendors, and eachm got into two contracts with two of these institutes.

The following facts are also known about these contracts.

I. Vendor Z had at least one contract in every year.

Il. Vendor X had one or more contracts in every year up to 2015, but no contract in any year after that.

Ill. Vendor Y had contracts in 2010 and 2019. Vendor W had contracts only in 201;/ /

IV. There were five contracts in 2012.

V. There were exactly four multi-year contracts. Institute B had a 7-year con);(act D [ad a 4-year contract, and A and C had one 3-year

contract each. The other four contracts were single-year contracts. // // ' \i\
VI. Institute C had one or more contracts in 2012 but did not have any cdntfaét in 2011} /‘\,
‘,\‘\ v
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VII. Institutes B and D each had exactly one contract in 2012. Institute D did/not' have anlycontract in 2010.
Question 19

In which of the following years were there two or more contracts?

A 2017
B 2016
C 2015

D 2018

Answer: C

Explanation: :
From IV: A, B, C, D have one 3, 7, 3, 4-year contract respectively-and all other contracts are one-year contracts.

From |, Z has at least one contract every year; the only possible combination is 7+3 or 7+4 year contract and that 7-year contract must be
from B.

From Ill, Vendor W had contracts only in 2012 and from VII, Institutes B and D each had exactly one contract in 2012 => W has got
contracts from A and C.

From II. Vendor X had one or more contracts in-every-year up to 2015, but no contract in any year after that and from VI, VII: C and D didn't
have any contract in 2011 and 2010 respectively => A should have X as a 3-year contract from 2010-2012. Now, for 2013-2015 X can't
have B for the same. So, X must have-got contracts from either C or D in that period.

Case 1:
X has C as a 3-year contract from 2013-2015/but in this case, D can't have any contract in 2012 so, this case is not valid.
Case 2:

X has D for a 4-year contract from 2012-2015 and C must have Z for a three-year contract in the period 2017-2019 such that Z has at
least one contract every year.

It is known that over the decade, the institutes each got into two contracts with two of these vendors, and each vendor got into two
contracts with two of these institutes => A hasn't got any contract from 2013-2019 as it has X, W in the period 2010-2012 and similarly, C
shouldn't havesany contracts in the years 2010, 2013, 2014, 2015, 2016.

From IlI, Vendor Y had contracts in 2010 and 2019 and in 2010 D and C hasn't got any contract and A has already got 2 different
contracts from.two different vendors =>Y has a contract from B in 2010 => B hasn't got any contracts in 2017, 2018, 2019.

For Y the only pbssible contract will be from D => D has got no contracts in the years 2011, 2016, 2017, 2018.

Now, the table looks like:

2010 2011 2012 2013 2014 2015 2016 2017 2018 2019
A X X W N N N N N N N
B ZY z z z z z z N N N
C N N W N N N N z z z
D N N X X X X N N N ¥

'N' represents no contract.

Out of the given options, only 2015 has two contracts and rest have only one contract in that particular year.
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Question 20

Which of the following is true?

A B had acontract with Zin 2017
B B hada contract with Y in 2019
C D had a contract with X in 2011

D D had a contract with Y in 2019

Answer: D

Explanation: :
From IV: A, B, C, D have/one 3, 7, 3, 4-year contract respectively and all other contracts are one-year contracts.

From |, Z has at leastrene contract every year, the only possible combination is 7+3 or 7+4 year contract and that 7-year contract must be
from B.

From lll, Vendor W had contracts-ohly in 2012 and from VII, Institutes B and D each had exactly one contract in 2012 => W has got
contracts from’A'and C.

From Il. Vendor X had one or more contracts in every year up to 2015, but no contract in any year after that and from VI, VII: C and D didn't
have any contract in 2011 and 2010 respectively => A should have X as a 3-year contract from 2010-2012. Now, for 2013-2015 X can't
have B for the'same. So, X must have got contracts from either C or D in that period.

Case 1:
X has C as a 3-year contract from 2013-2015 but in this case, D can't have any contract in 2012 so, this case is not valid.
Case 2:

X has D for a 4-year contract from 2012-2015 and C must have Z for a three-year contract in the period 2017-2019 such that Z has at
least one contract every year.

It is known that over the decade, the institutes each got into two contracts with two of these vendors, and each vendor got into two
contracts with two of these institutes => A hasn't got any contract from 2013-2019/as it'has X, Wiin the period 2010-2012 and similarly, C
shouldn't have any contracts in the years 2010, 2013, 2014, 2015, 2016,

From Ill, Vendor Y had contracts in 2010 and 2019 and in 2010 D and C hasn't got any contract'and A has already got 2 different
contracts from two different vendors =>Y has a contract from B in 2010 =>B hagfh't got.any contracts in 2017, 2018, 2019.

For Y the only possible contract will be from D => D has got no contraets in'the years 201/, 2016, 2017, 2018.

Now, the table looks like:

2010 2011 2012 2013 2014 2015 2016 2017 2018 2019
A X X xw N N N N N N N
B ZY Fi z z z z z N N N
C N N W N N N N z Fi Fi
D N N X X X X N N N Y

'N' represents no contract.

Option D is true.
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Question 21

In how many years during this period was there only one contract?

C 4

D 5

Answer: A

Explanation:
From IV: A, B, C, D have one 3, 7, 3, 4-year contract respectively and all other contracts are one-year contracts.

From |, Z has at least one contract every year, the only possible combination is 7+3 or 7+4 year contract and that 7-year contract must be
from B.

From lll, Vendor W had contracts only in 2012 and from VI, Institutes B and D each had exactly one contract in 2012 => W has got
contracts from A and C. /

From Il. Vendor X had one or more contracts in every year up to 2015, but no contraetin’ any year after that and from VI, VII: C and D didn't
have any contract in 2011 and 2010 respectively => A should have X as a 3-year,contract from 2010-2012. Now, for 2013-2015 X can't
have B for the same. So, X must have got contracts from either C or D.in that-period.

Case 1:
X has C as a 3-year contract from 2013-2015 but in this case, D can‘t.have any contract in 2012 so, this case is not valid.
Case 2:

X has D for a 4-year contract from 2012-2015 and C must have.Z for a three-year contract in the period 2017-2019 such that Z has at
least one contract every year.

It is known that over the decade, the institutes each got into two contracts with two of these vendors, and each vendor got into two
contracts with two of these institutes => A hasn't got any contract from 2013-2019 as it has X, W in the period 2010-2012 and similarly, C
shouldn't have any contracts in the years 2010, 2013, 2014, 2015, 2016.

From Ill, Vendor Y had contracts in 2010 and 2019.and in\2010 D-and'C hasn't got any contract and A has already got 2 different
contracts from two different vendors =>Y has a contract from B in 2010 => B hasn't got any contracts in 2017, 2018, 2019.

For Y the only possible contract will be from D => D has got no-eontracts in the years 2011, 2016, 2017, 2018.

Now, the table looks like:

2010 2011 2012 2013 2014 2015 2016 2017 2018 2019
A X X xw N N N N N N N
B ZY Fi z z z z z N N N
C N N W N N N N z Fi Fi
D N N X X X X N N N Y

'N' represents no coentract:

Only during 2016, 2017 and 2018, there was only one contract.
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Question 22

What BEST can be concluded about the number of contracts in 2010?

A exactly 4
B exactly 3
C atleast3

D atleast4

Answer: B

Explanation:
From IV: A, B, C, D have one 3, 7, 3, 4-year contract respgctively and all other contracts are one-year contracts.

From |, Z has at least one contract every yeaf, the only possible combination is 7+3 or 7+4 year contract and that 7-year contract must be
from B.

From Ill, Vendor W had contracts only in 2012 and from Vi, Institutes B and D each had exactly one contract in 2012 => W has got
contracts from A and C.

From II. Vendor X had one or more contracts/in every year up to 2015, but no contract in any year after that and from VI, VII: C and D didn't
have any contract in 2011 and 2010 respectively => A should have X as a 3-year contract from 2010-2012. Now, for 2013-2015 X can't
have B for the same. So, X must have got contracts from/@ither C or D in that period.

Case 1: _
X has C as a 3-year contract from 2013-2015 but in this case, D can't have any contract in 2012 so, this case is not valid.
Case 2:

X has D for a 4-year contract ffom 201 2-2015%and C must have Z for a three-year contract in the period 2017-2019 such that Z has at
least one contract every year.’

It is known that over the decade, the'institutes each got into two contracts with two of these vendors, and each vendor got into two
contracts with two of these institutes => A hasn't got any contract from 2013-2019 as it has X, W in the period 2010-2012 and similarly, C
shouldn't have any cantracts in the years 2010, 2013, 2014, 2015, 2016.

From Ill, Vendor Y had contraets in 2010 and 2019 and in 2010 D and C hasn't got any contract and A has already got 2 different
contracts from two different vendors =>Y has a contract from B in 2010 => B hasn't got any contracts in 2017, 2018, 2019.

For Y the onlypossible contract will be from D => D has got no contracts in the years 2011, 2016, 2017, 2018.

Now, the table looks like:

2010 2011 2012 2013 2014 2015 2016 2017 2018 2019
A X X Xw N N N N N N N
B LY Z z Z Z z z N N N
C N N W N N N N z Z Z
D N N X X X X N N N ¥

'N' represents no contract.
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The Number of contracts in 2010 is three.
Question 23

Which institutes had multiple contracts during the same year?

A Aonly
B BandConly
C AandBonly

D Bonly

Answer: C

Explanation:
From IV: A, B, C, D have one 3, 7;3,4-year.contract respectively and all other contracts are one-year contracts.\

From |, Z has at least one contract eyery year, the only possible combination is 7+3 or 7+4 year contract and that 7-year contract must be
from B. '

From Ill, Vendor W had contracts only-in 2012 and from VII, Institutes B and D each had exactly one contract in 2012 => W has got
contracts from A and C.

From II. Vendor X had-one or more contracts in every year up to 2015, but no contract in any year after that and from VI, VII: C and D didn't
have any contract in 2011 and 2010 respectively => A should have X as a 3-year contract from 2010-2012. Now, for 2013-2015 X can't
have B for the same. So, X must have got contracts from either C or D in that period.

Case 1:
X has C as a 3-year contract from 2013-2015 but in this case, D can't have any contract in 2012 so, this case is not valid.
Case 2:

X has D for a 4-year contract from 2012-2015 and C must have Z for a three-year contract in the period 2017-2019 such that Z has at
least one contract every year.

It is known that over the decade, the institutes each got into two contracts with two of these vendors, and each vendor got into two
contracts with two of these institutes => A hasn't got any contract from 2013-2019 as it has X, W in the period 2010-2012 and similarly, C
shouldn't have any contracts in years 2010, 2013, 2014, 2015, 2016.

From Ill, Vendor Y had contracts in 2010 and 2019 and in 2010 D and C hasn't.got any contract and A has already got 2 different
contracts from two different vendors =>Y has a contract from B in 2010 =>B hasn't got any-contracts in 2017, 2018, 2019.

For Y the only possible contract will be from D => D has got no contracts in the years 2011, 2016, 2017, 2018.

Now, the table looks like:

2010 2011 2012 2013 2014 2015 2016 2017 2018 2019
A X X Xw N N N N N N N
B LY Z z Z Z Z Z N N N
C N N W N N N N Fi Z Z
D N N X X X X N N N ¥

'N' represents no contract.

B and A have multiple contracts in a single year.
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Question 24

Which institutes and vendors had-more than one contracts in any year?

A B W, X andZ
B A B,W,and X
C ADWandZ

D B,D,W,and X

Answer: B

Explanation;
From IV: A, B;C;.D have one 3, 7, 3, 4-year contract respectively and all other contracts are one-year contracts.\

From |, Z has at least one contract every year, the only possible combination is 7+3 or 7+4 year contract and that 7-year contract must be
from B.

From lll, Vendor W had contracts only in 2012 and from VI, Institutes B and D each had exactly one contract in 2012 => W has got
contracts from A and C.

From II. Vendor X had one or more contracts in every year up to 2015, but no contract'in any year after that and from VI, VII: C and D didn't
have any contract in 2011 and 2010 respectively => A should have X as a 3-year contract from 2010-2012. Now, for 2013-2015 X can't
have B for the same. So, X must have got contracts from either C or D in that period;

Case 1:
X has C as a 3-year contract from 2013-2015 but in this case, D can't have any contract in~2012 so, this case is not valid.
Case 2:

X has D for a 4-year contract from 2012-2015 and C must have Z for athree-year contract in the period 2017-2019 such that Z has at
least one contract every year. '

It is known that over the decade, the institutes each got into two contracts with twe of these vendors, and each vendor got into two
contracts with two of these institutes => A hasn't got any contract from 2013-2019 as it has X, W in the period 2010-2012 and similarly, C
shouldn't have any contracts in years 2010, 2013, 2014, 2015, 2016.

From Ill, Vendor Y had contracts in 2010 and 2019 and in 2010.D and C hasn't got any contract and A has already got 2 different
contracts from two different vendors =>Y has a contract fromB.in:2010 => B hasn't got any contracts in 2017, 2018, 2019.

For Y the only possible contract will be from D => D has got no contractsin the years 2011, 2016, 2017, 2018.

Now, the table looks like:

2010 2011 2012 2013 2014 2015 2016 2017 2018 2019
A X X xw N N N N N N N
B ZY Fi z z z z z N N N
C N N W N N N N z Fi Fi
D N N X X X X N N N Y

'N' represents no contract:

A, B, W, X had more than one contracts in a single year
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